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SUBJECT CODE : Arts/Science/Commerce

[ No. of Printed Pages - 15

2017

No. of Questions - 29 ]

CLASS - XI
MATHEMATICS
( Optional )
Full Marks - 100
Pass Marks - 33

Time - 3 Hours

All questions of Section A & B are compulsory.
Answer any four questions from Section C.
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General Instructions :

a3 :

This question paper consists of 29 questions

divided into three Sections — A, B and C.

Section-A comprises 12 questions
of 3 marks each. Section-B comprises

10 questions of 4 marks each and Section-C
comprises 4 questions out of 7 questions

of 6 marks each.
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Section - A

gug - F
1. Find number of subsets in set A = 13,4, 5.

9 A = { 3, 4, 5} 4 3999wl & @&

i~ ~ \|
2. IfA= ¢, then write P(A).

AT A= ¢,d P(A)TafET

If n-th term of the sequence ( A.P. ) is given

by t,= Sn + 7, write down its common

difference.
IR AN T p A TG ¢, = Sn+ 7 &1 THH A
AR Teptierd |
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4. Ifthe n-th term ¢ of a sequence is given by |

t =

1

n . .
— ; 1 niseven

{ n ; if n i1sodd
2

write down its first five terms.

i o & & n a1 9
n;zfﬁ'nﬁﬂw%
n .
-2— ,Wn'ﬂqg

mﬁmw%a’rmﬁaq‘cﬁaﬁ%ﬁa&r

Write down the slope of y-axis.

Y-8 W qeT Memifend |
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Find centre and radius of the circle

{X_G]2+y2= C2
Fa (x-a) +y’= 2 & F5 @ T @

ST |

If y=sin x", find E‘ti
dx

a7 y = sin x", d Y Franfert
X

im tan 7x

Find the value of
x—0 X

lim tan7x
x>0 % &1 qH FHeierd |
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9.

10.

11.

51

If a coin is tossed thrice, write down the

sample space.

o Tt foas @1 A aR IS 7040 E, a1 feee
gufse farferd |

Write negation of the statement :

P : Delhi is the capital of Haryana.

Fo P feoedl gfeamm & T 2

&1 Y Tahad |

Assume that P ( A ) = P ( B ), prove that
A=B.

e

qA & P(A)=P(B),dl A=Bfag®
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12. Find domain of the function

fix) = {4-x*.

GAT f(x) = 4-x° &1 wid [T |

Section - B

gug -

13. Find the value of sin 75°.

sin?S"ﬂﬂTﬁﬁﬂﬁl

4tan x (1 - tan? X )

14. Prove that, tan 4x = 5 R
l-6tan® x +tan’ x

: 4t 1 -tan? x
fag =L & tan 4x = an x an )

1-6tan? x + tan? x
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a-1b
-y = — , prove that
15. If x-1y o P

(x* +y = —
C2+d2
—ib .- - .
?ﬁ‘(x—i = a- AT T HE B
Y c—id *
2 2
2 2.2 a“ +b
cc +d-

16. Solve the inequalities and represent the
solution graphically on number line -

SX+1}—243 Sx_],::gqi

M SEEFIS g W e @ W e

5x+1}-—24} Sx_1{24-

8/ 15



51

XASC-MAT-(Opt.]-ASC

Arts/Science/Commerce

17.

18.

In how many ways can the letters of the

word PERMUTATIONS be arranged if the
1) words start with Pand end with S

11) vowels are together ?

3% PERMUTATIONS & 37810 &] T4 %9 9
ST | glg

) Y= PUYE AW ST HFA L&
i) TR US A8 ?
Find the middle term in the expansion

x 10

[§+9y)lammﬁmwﬁ$ﬁiﬁ
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19. Find the equation of the ¢l

20.

21.

rcle passing

through the points ( 4, 1 ) and (6, 5) and

whose centre is on the line dx + Y= 16.

35 ga @ gy fAEfed (4, 1) @

[65}1%@;‘1;&@?5110 ¥ e fTgeT s dl
4x+y=16q_fﬁi°-rt_‘[%|

lim C€os2x -1
x>0 cosx-1"

Find the value of

lim cos?x—laﬂmf SN
x=2>0 cosx-1

4 cards are drawn from a well shuffled deck
of 52 cards. What is the probability of

obtaining 3 diamonds and one spade ?

10/ 15



XASC-MAT-(Opt.)- ASC XASC-MAT-(Opt.)-ASC 51
Arts/Science/Commerce

, " . - Arts/Science/Commerce

e aXe ¥ % gy 52 Al Il M H 4 T H Section - C
: e Qs - 9

fqeptenr saT 21 3 SEHUE a9 U g HeAd Hl

23. 1) Prove that

[ » ? ' | | 2
TE (cos x — cos y )% + (sin x —sin y )

1 ! i ] : X -
Rewrite the following statement in five - 4sin2 [ . Y J
different ways, conveving the same ii) Prove that

i 2 COS — . COS o cos 57 on 0
meaning : —. + CO + COS =

= 13 13 13 13
i) THE

P : If a number is divisible bv 9 then it is

— o _2 . . .2
divisible by 3. (cos x ~cos y)° +(sin x ~sin y )

~ C e e PP ~ geinl| X7Y
= HYH @] 9 TWE GO H I [GEd dils 9 45‘”[ > ]
UH 3 T i) o #

| e ey | 2 cos — On 3n Sn
P : 3 &g §& 9 ¥ fauisia &, d 98 3 §KI 13-C0313+{:05E+CDST§=0
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24. Prove that by

using  principle  of

mathematical induction vne N,

ni2n-=1)(2n+1)
3 .

2z

12+3%+52 + . +(2n-1) =

mofas 3PS THEE Yne N & UET 3

™

fag L &

> n(2n-1)(2n+1)

12432 +5% + ..., +( 2n 3

25. Solve the system of mequalities graphically :

4x+ 3y <060, y = 2x, x> 3,
T 3@EEs & Haw & U%g Gy "
ZA L

4x+ 3y <60, y=2x, x> 3
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26.

27.

i > PO 2,3
Two lines passing through the point | )

intersect each other at an angle of 60°. If

the slope of one line is 2, find the equation

of the other line.

(2, 3) fag @ SFeEr &1 TA0 UH EH

60° TV W T FRAl &1 g U I

2 %, & TE @ 1 GHET e |

Find the coordinates of the points
which trisect the line segment PQ formed
by joining the points P ( 4, 2, - 6 ) and

Q(10,-16,6).

ﬁiﬁP(‘LE,—fﬁ}ﬁwo(m,—m,mm

Hfad po tameve ® wHiie = A gt

EAREENIE IR iAol
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Find the derivative of the function

fx)=x*+ —1—— by first principle.
X2

vy fagid §R1 Weld f (x ) = x2 + =

nE
52
ITFAA HHNAY |

The mean and variance of 8 observations
are 9 and 925 respectively. If six of the

observations are 6, 7, 10, 12, 12 and 13,

find the remaining two observations.

8 TeIUTT W1 ATEd dYT WEIOT HHY: O dYl 9-25 & |
afg 39 ¥ B: e 6, 7, 10, 12, 12 &1 13 &,
ar ¥y g U&7 3 SHiTAU |
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